TEST FORMATIF :

Question 1 :

SoitA = 2x + 1.
» Calculer A pourx = 3

Question 2 -

SoitB = 2 X a X (—4) X b.
» Réduire B
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Question 3 :

SoitC = 2(4x — 3).
» Développer et réduire C

Question 4 :

SoitD = 3x — 3y.

» Factoriser D

Question 5 :

SoitE = 5x + 15.

» Factoriser F
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CORRECTION

Question 1 :

SoitA = 2x + 1.

» Calculer A pourx = 3
A=2X3+1=6+1=7

Soit B =@X a@ b.
» Réduire B

B=2><(—4)><axc\3=—8ab

Question 2 :
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Question 3 : m

SoitC = 2(4x €)3).
» Développer et réduire C
C=24x—-3)=2X4x—-2X3=8x—6

Question 4 :

SoitD = 3x — 3y.
» Factoriser D
D=3(x-y)

Question 5 :

SoitE = 5x + 15.

» Factoriser E

E=5x®5x 3 =5(x£€3)
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